Chemistry 333 Name:

Quiz #2
1. (10 points)

Draw the intermediate that is formed in the following primary mechanistic step. Then use the
Hammond postulate to characterize the transition state for this step in terms of timing, energetics,
and structure. Explain your reasoning clearly. Draw an annotated reaction- energy diagram

(graph of potential energy versus reaction coordinate) to illustrate your answer.
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(10 points)

State whether the following reaction is non-enantioselective, partially enantioselective, completely
enantioselective, non-diastereoselective, partially diastereoselective, or completely diastereoselective.

Describe your reasoning clearly and succinctly. If the reaction is stereoselective, state the numerical
value of the e.e. or d.e., as appropriate.

O o0 OH O
M bakers' yeast /:\)]\
H;C OCH,CH; aq.sucrose  HzC OCH,CH;
93 %
OH (0

7%

OCH,CH,



